
7200TH Hinged Top Panel Kit for
352HL, 342HL, 352HS, 342HS, 352S and 342S

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.comPh. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

10/07/2019

10.04

8.14

1.32

.71
4X  .20 THRU

 R.35 

 R.13 

 3.11 

 3.83 

 9.56 

 6.94 

 8.16 

OPTIONAL ACCESSORY

 .06 

PARTS INCLUDED
P/N Qty. Description

72020 1 Hinged Top Aluminum Panel
6029 2 SS #10 X 3/8" Pan HL Screw
6030 2 SS #10 X 3/8" Pan Combo H/L Screw
6105 2 SS #10-32 X1/8" Nut
6028 2 SS #10 X 5/8" Pan Combo H/L Screw
1307 2 Hinge Pin
1308 1 Panel Hinge A
1309 1 Panel Hinge B



72020 AP-2 Hinged Alum Panel
352HL, 342HL, 352HS, 342HS, 352S and 342S

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.comPh. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

2/24/2020

10.04

8.14

1.32

.71  .20 THRU
4 PLC'S

R.35
2 PLC'S

R.13
2 PLC'S

 6.94 

 8.16 

 9.56 

 3.11 

 3.83 

R.06
4 PLC'S

 .06 


